

Nursery fees from 1st April 2025

Smarty Pants @ Pattingham Limited

Open: 7:30am – 6:00pm, all year round

Nappies and/or Pull ups included

Full day 7:30am-6:00pm Includes: All meals and snacks	£70.00 per day
School Day 8:15am-3:45pm Includes: All meals and snacks	£55.00 per day
Morning 7:30am- 12:30pm Includes: Breakfast and lunch	£36.00 per day
Afternoon 1:00pm-6:00pm Includes: Tea	

Terms and conditions:

- Registration fee £30.00 (includes pre-visits and paperwork set-up)
- Deposit of £150.00, this is non-refundable but will contribute towards last month's/final fees. If we have held your child's place for more than 1 month we cannot refund the deposit.
- Minimum of 2 sessions per week to provide consistency and to help your child to settle
- 10% discount for second child
- Working family funding is available from 9 months 4 years. Funding is offered term time 30 hours or 22 hours all year round. Please see session options. Full criteria can be found on the Childcare Choices or local authority websites.
- ELT, two-year-old funding can be applied for online, or a manager can carry out an assisted application for you, confirmation letter must be provided. This funding is offered as 15 hours per week term time or 11 hours per week all year round.
- For working families, you will be provided with an 11-digit code that the manager will need to verify along with your NI number, this must be renewed every 3 months and within deadlines to continue to claim.
- To claim universal funding, 15/11 hours as a 3-year-old, you do not need to apply.
- Fees payable 51 weeks of the year regardless of closures or bank holidays. One free week is applied during the Christmas closure; however, we are closed for approximately 8-10 days. If you decide to go on holiday or your child is off sick, fees still must be paid 51 weeks of the year.
- Late fee and late collection charges apply outside of agreed hours.
- Nappies included are usually Asda or Tesco (supermarket) own brand, if you require a specific type, you are welcome to bring in your own.
- All voucher, student finance and tax-free childcare payments accepted.
- All fees paid a minimum of a month in advance, payable by last working day for the month ahead. Invoices are emailed around a week before the end of the month.
- A months' notice is required for your child to leave or change hours/days.
- Fees normally change/increase yearly, every April.
- Online payments: Account number: 54093578 Sort: 23-05-80











Nursery fees and session times for funded only places:

Funded children only, must choose one of the following sessions and if they require any additional hours may top up using the hourly rate of £7.50. Hourly rates cannot be overlapped into a new session, for example, if you choose 8:30am-11:30am, you can pay for an additional hour from 7:30-8:30 and 11:30-12:30 (plus any consumable charges) but you cannot choose to pay 2 hours from 11:30-1:30. If your session is 8:30-4pm and you want to stay until 6pm it will cost an additional £15.00. For additional days you pay the main nursery rates on the first page.

Funding starts the term after your child's birthday and proof of eligibility will be required for all apart from 3 year old universal 15 hours.

If your child turns 9 months, 2 years or 3 years between:	They will be entitled to start claiming funding from:
1st September - 31st December	January (Spring term)
1 st January - 31 st March	April (Summer term)
1 st April - 31 st August	September (Autumn term)

ALL YEAR FUNDING:

11 hours per week, 51 weeks of the year:	22 hours per week, 51 weeks of the year:
 7:30am-1pm (2 days) £14 per week 12:30pm-6pm (2 days) £9 per week Full time 8:30am-4pm - £180.00 per week Full time 7:30am-6pm - £255.00 per week 	 7.30am-1pm (4 days) £28 per week 12:30pm-6pm (4 days) £18 per week 9am-4:20pm (3 days) £22.50 per week Full time 8:30am-4pm £115.00 per week Full time 7:30am-6pm - £195.00 per week

TERM TIME FUNDING:

15 hours per week, 38 weeks of the year:	30 hours per week, 38 weeks of the year:	
 8:30am-11:30am (Monday–Friday) Free session* 12:30pm-3:30pm (Monday–Friday) Free session* 	 8:30am-4:00pm (4 days) £30 per week 8:00am-6:00pm (3 days) £27 per week 	
 7:30am-12:30pm (3 days) £21 per week 1pm-6pm (3 days) £13.50 per week 	 Full time 8:30am-4pm - £70.00 per week Full time 7:30am-6pm - £145.00 per week 	
 8:30am-4:00pm (2 days) £15 per week Full time 8:30am-4pm - £160.00 per week 		
• Full time 7:30am-6pm - £235.00 per week		

Consumable charge: This includes all meals, snacks, nappies,	This is a voluntary charge that once agreed must be paid regardless
nappy creams, suncream, various extra activities like animal	of attendance or time off. If you chose not to pay the consumable
experiences, parties and regular visits like football training etc.	charge then you will need to provide your own meals, snacks,
*No consumable charge required with the 15 hours term time option of 8:30-11:30am or 12:30-3:30pm options. These places are limited and subject to availability.	nappies, wipes, creams etc. You will also need to decide if you would like your children to take part in extra activities. Packed lunch policy must be followed. Daily consumable prices below are based on breakfast £1, lunch and pudding £3, tea £1.50, fruit 50p, nappies, wipes and creams £1.50 and activity contribution of £1.50.
Morning	£7.00 per day
Afternoon	£4.50 per day
School Day	£7.50 per day
Full Day	£9.00 per day

Examples of what to expect your monthly invoice to look like:

Invoice for November 2025		Number of days per month:	Cost:	
Monday	*9am-4:20pm x 3 days, 22 hours all year funding.	4	£0.00	
	*School Day Consumable charge £7.50.	4	£30.00	
	*Extra 1 hour top up from 8am-9am £7.50.	4	£30.00	
Tuesday	*9am-4:20pm x 3 days, 22 hours all year funding.	4	£0.00	
	*School Day Consumable charge £7.50.	4	£30.00	
	*Extra 1 hour top up from 8am-9am £7.50.	4	£30.00	
27 fu *(CC £) *(1)	*9am-4:20pm x 3 days, 22 hours all year funding.	4	£0.00	
	*School Day Consumable charge £7.50.	4	£30.00	
	*Extra 1 hour top up from 8am-9am £7.50.	4	£30.00	
Thursday	School Day £55.00	4	£220.00	
Friday	No session, does not attend.	0	0	
		Total:	£400.00	Due by the last working day of October (31/10/2025)

Invoice for October 2025		Number of days per month:	Cost:	
Monday	*8:30am-4pm x 4 days, 30 hours, term time only	3	£0.00	
	*School Day Consumable charge £7.50.	3	£22.50	
Tuesday	*8:30am-4pm x 4 days, 30 hours, term time only	3	£0.00	
	*School Day Consumable charge £7.50.	3	£22.50	
30 hours only *School	*8:30am-4pm x 4 days, 30 hours, term time only	4	£0.00	
	*School Day Consumable charge £7.50.	4	£30.00	
30 ho only *Sch Cons	*8:30am-4pm x 4 days, 30 hours, term time only	4	£0.00	
	*School Day Consumable charge £7.50.	4	£30.00	
Friday	No session, does not attend.	0	0	
		Total:	£105.00	Due by the last working day of September (30/09/2025)